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%E R E | MdeTom | SuTum [ mm [ ms
< WREEMICLINE >
< IRA >
ERILA 7, 100 8, 000 900
A IEFARA 7,100 8, 000 900
FERETE LA 7, 100 8, 000 900
BRI RRLSIWA 1 1 0
|  zmaesEuemA 1 1 0
2 DDA 50 1 A49
MA 50 1 A49
MEA 50 1 A49
BHERHAR (1) 7,151 8, 002 851
< Xt >
AFER M 2, 200 2, 449 249
M BB 5 3 2,177 2, 418 241
BRI 23 31 8
FHREM 307 329 22)
HRRIMEA R 1 22 22
BHETRR K 0 5
WS 100 100
SO K 45 45
RBAREH 140 157 17
IRASHE S 4, 600 4,800 200)
[ massser Az 4, 600 4, 800 200
BEERE M Q) 7,107 7,578 471
FEEMELWEEF (=(1)-(©) 44 424 380
< HBRNSICLzREX >
< A >
R AR (4) 0| 0 0]
< X >
KK X LBt (5) 0 0 0
SR BB NI (6)=(40)-(5) 0 0 0
< XOMOEMICLHRE >
< A >
EOMDERTAR (7) | 0| 0 of
< XM >
EDMDERK L (8) 0 0 0
TOMDOEMR SN EE(9)=(7)-(8) 0| 0 0
TR (10) 1,144 1,524 380)
LIRS I IMAA R (11)=(3) +(6)+(9)-(10) Al, 100 Al, 100 0
BN R R M (12) 1, 100 1,100 0
B RZ IR LI (1) +(12) 0 0 0
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